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Unit 9 Test Review  

 

I. Perform the given operations using the following matrices. 
 

1.  [
2

−7
3

] + [
−5
4
6

] =    2.  [
0 5
3 −6

−1 3
] − [

2 4
1 7

−1 0
] = 

 
 
 
 

        𝐴 = [
2 9

−6 3
−2 −1

]        𝐵 = [
3 −4
5 2

−7 1
]        𝐶 = [

3 −1
0 5

]        𝐷 = [
4 1

−3 0
] 

 
3. 𝐴 + 𝐵 =  
 
 
 
 
 
 
4. 𝐴 − 𝐵 =  
 
 
 
 
 
 
5. 𝐶 + 𝐷 = 

 
 
 
 
 
 
 

6. 𝐶 − 𝐷 = 
 
 
 



𝐴 = [
2 9

−6 3
−2 −1

]        𝐵 = [
3 −4
5 2

−7 1
]        𝐶 = [

3 −1
0 5

]        𝐷 = [
4 1

−3 0
] 

 
7. −3𝐵 =  

 
 
 
 
 
 

8.  2𝐴 =  
 
 
 
 
 
 
9. −𝐴 =  
 
 
 
 
 
 
10. 4𝐷 =  
 
 
 
II. State the dimensions of each matrix. 

 

11. [
5 8 −7
1 11 3

]   _______________ X ______________ 

 
 
 

12. [
3 1

−5 0
7 6

]    _______________ X ______________ 

 
 
 
 



III. Solve for each variable. 
 

13.   [
𝑥 − 5 9

4 𝑡 + 2
] = [

−7 𝑤 + 1
8 − 𝑟 1

]   

 
 
 
 
 
 
 
 
 

14. [
−4 + 𝑡 2𝑦

𝑟 𝑤 + 4
] = [

2𝑡 12
−2𝑟 + 12 9

] 

 
 
 
 
 
 
 
 
 
 
 

IV. Word Problems 
 

15. A corporation has three factories, each of which manufactures four products. 
                 DCBA  

















100807060

909010050

20708030

3Factory

2Factory

1Factory

 

 
Find the production levels if production is decreased by half. 
 
16.  A corporation has three factories, each of which manufactures four products. 
                 DCBA  

















100807060

909010050

20708030

3Factory

2Factory

1Factory

 

 
Find the production levels if production is doubled. 



V. Simplify each radical. 

 

17.  √50𝑥4 
 
 
 
 
 
 
 
 

 

18.  2√96 
 
 

 

19.  √704𝑥3𝑦3 

 
 
 
 
 
 
 
 

 

20.  5√1025 
 
 

 

21.  √529 
 
 
 
 
 
 
 
 

 

22. −3√60 
 
 

 

23.  5√98 
 
 
 
 
 
 
 
 

 

24.  √75𝑥𝑦6 

 
 

 



ANSWERS 

 

[
−9 12

−15 −6
21 −3

] 

[
−1 −2
3 5

] 

[
7 0

−3 5
] 

[
−1 13

−11 1
5 −2

] 

[
5 5

−1 5
−9 0

] 

[
−2 1
2 −13
0 3

] 

[
−3
−3
9

] 

5𝑦3√3𝑥 

35√2 

−6√15 

23 

25√41 

8𝑥𝑦√11𝑥𝑦 

8√6 

5𝑥2√2 

−2 

3 𝑋 2 

2 𝑋 3 [
16 4

−12 0
] 

[
−2 −9
6 −3
2 1

] 

[
4 18

−12 6
−4 −2

] 

[
60 160 140 40

100 200 180 180
120 140 160 200

] 

[
15 40 35 10
25 50 45 45
30 35 40 50

] 

5 

4 

6 −4 

−1 

4 

8 


